SIMPLE TnNTEREST

L = PRT

A= P+ 1T

A = total amount ($)

P = Pt'mc'lpa.\ ($)

R = interest rate per annum (‘/o)
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TRIGoNomMETRY EXPANDING BRACKETS
The distabutive law
. 2 a(o+c)= abtac
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A (a+b)(c+d) = ac+ad +bc+lod
smb = O
Difference of fwo squaces cule
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Pe.rfack squase rules
2 2 -3
) (a+ b) = a'+2ab+b )
tand = (] .
A { LY = a'— 2ab +b
i
Pos‘d-inn What Rearranjemeﬂt
of unknouwn todo? (examp|€-) FAcTor\SATION
Tep e sl Diffecence of 4wo Squares cule
2
Denomnafor | = x=1T=cos 7) I'ﬂz—-b = (OH-'D)(Q-%
. gl
AHS\C Taverse | 8= tan .‘% PQOFE(,L‘ SC‘:JC\VC. cules
2
o2+ Lab + b = (ot b)
*_ 20b +bl = (Q = l:S
9 T
The Laws of Indices
Law Description Formula
Multiplication | When multiplying numbers with the same base, keep the

aMxgh = gm+n

of powers base and add the indices.
Division of When dividing numbers with the same base, keep the Q™ = gh = gm—n
powers base and subtract the indices.
Power of a When raising a number in index form to a power, keep the (@™ = gmxn
power base and multiply the indices. -
Expanding When removing brackets around a product that has been (ab)™ = qmp™
products raised to a power, raise each number to that power. -
Expanding When removing brackets around a quotient that has been aym™ _a”
quotients raised to a power, raise each number to that power. (E) pm

. Any number raised to the power of zero is equal to 1. -
Thezeroindex |\ +e that 09 is undefined. " =iy 0
Negative A number raised to a negative power is equal to 1 divided S, A g
indices by the same number raised to the positive power. a - =um (a+0)




